*27 7"7 '010 R,72 MAnd .7"02

It is Rabi Shimon- 10omw 7w XD 9IRT TIRW UM MRT X7 YRR 929
who maintains, an unfit Shechita is not considered a Shechita

Overview

The %713 explained that the o221, who (argue with n"9 and) maintain that in a case
where one stole and his agent was 120 an animal on nNaw that the 213 is 7MW from
paying 'm '7 (even though there is no n"2%p), is ¥"1 who maintains that a v nWw
VMW AW XY AR 70RW, therefore since the 2V took place on Naw (where it is
prohibited), it is not considered a 7w 1w and there is no 211 of "M '7.

There is a dispute between w"? and n"7 regarding the prohibition of not
slaughtering a mother and its offspring on the same day,' in a case where the v nw
of one of them was a 7x1 ArRw 7nw.> According to (3121) "1 the prohibition
applies (for mwnw maw MXY ArRw) 7vnw,” while according to "3 there is no
prohibition since 7MY MW XY 787 7R 7wnw).” It seems from our X3 that this
nonn extends to the case here concerning the payment of '™ '7. Our moon
discusses this issue.

nooIn asks:
=132 NN IMN 22) ONN 1929 2J9 N IND 197 NN

It is astounding; for the 3239 do not extend their argument there with w"9, and
it is limited only regarding 112 NRY 1NN -

— NIAYV (x,79 97 1P9INA DNN YIDNTI NN
Rather as the X723 there explains the reason of the (»") 1137, why they maintain by

112 NRY IR that TOAW 7AW TR APRY 700w and disagree with W', because -
—Sanraon nvInY 1239 PN s‘{?h MOINVYN YWIFND NOUINYN NOUINY 199

We derive mume (which is written by 112 nX1 1mX) from 7wnw meaning from

v sunw, but we do not derive s from 7753w, This is understandable regarding
1137 NXY MK, where the word 7w nw is used’ -

! See 13,20 (MmK) X" which states, Ty 012 Mwmwn XY 112 DY) DK AP WK .

* See the mwn in 2,80 1911 for various examples (i.e. it was not slaughtered properly, rather it was stabbed)

3 They derive this through a 7 nw fwnw MY 7771 from 70 "VINWw, where one is VMY a j27p outside the 7Y (see
3,7 [nR] Xp7, which states, 7R yamn 3 MW wAws WX 2 wOX) which is certainly a 7K arRw nvnw, and
nevertheless it is considered a 7 nw so that he transgresses the 710°X of v *vInw. Therefore, by 112 NX1 1N where it
mentions 7Y MY (as well) it does not matter if it is a 7R AIRY 70N,

*w" derives it from 19 1A Maw (in 10,27 [YP7] NPWRN2) where it was a 77K T0NW.

> See footnote # 3.

® See footnote # 4. The 1127 prefer the nunw Awnw w"m (which are the exact same words) than the 7r°2v VRV V"N
(which although they may mean the same, but they are not the same word), which "9 uses.
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- Sn%av 25194 70 71 MY %) XaN YaN

However here regarding the payments of '/m '? where 71520 is written -
- 7n0onY NRY X9 NNALN NNAL 99915 )Y N

We should derive the 7meaw ameaw w"n from 72w mMawy (which is a 7R 70NAY)

and therefore a UMY 72w KXY IRI OPRW J0NW by M '7 *m9wn, even according to the
(n") 10 -

nv0IN answers:
= 93902 9NN 927 23502 9ININ 927 1937 919919Y NIINT PHY 13929 9IIN)

And the °''9 says that the 7127 will be able to say that we can derive something
which was said in >1°0 ("1 '7 *2%wn) from something which was said in "9 ("vrnw

yn) -
- %3503 9183 YW 1909 NAO MALM 239D NN 937 1931 PR

But we do not derive something which was said in "1°0 (' '7 "»%wn) from maw
1= maw which was not said in %299 —

Mmoo responds to an anticipated difficulty:11
- RIINNT NOIDY 19 TINT NIN 51 919109 281 %1 ) 0N

And there too (in "7 noon) the X3 could have also said this (that we do not

derive from n"n "197), it is only because he had another answer that he did not use
this answer.

mooin offers an alternate answer for this last question:
- Bavsnwun A0NY 1937 ONNT NHIPY THI8T Y ¥ ) ON

Or it is also possible to say, that the answer there (which is) Fwsnwn qwInw P17
(rather than 7Y W from 7M°2V) is necessary -

7 See footnote # 1.

¥ See 12,80 (2"wown) Mw which states, AyT NAR XY ¥2X) I NOD DR TR AERT 1190 IX I A IR 2N Wk 23 3.

’ Mmoo question is why does the Xn3 say that we are following the ruling of w"3 (in 132 nX) 1IX) that APRWY 7MWY
TYnw o X2 780, when here regarding M '7 m%wn, even the (2"1) 1121 would agree that v nw oW X, since the
70 refers to it as r°2v (just like the 72w m2v by Aov).

' The 1321 would rather derive 72w from 7v°nw (even though they are not exactly the same words), since they were
both stated in °1°0 (after 770 1nn), than to derive 72w from 7Y (even though they are the same words), since the
72w of mav mav was said before 7N 1K (03902 nR1 XY). Therefore, the o°non still derive nn°av of ‘M '7 "m%wn from
7 0w that even by 'm 7 we rule that 70 nw W 778 AR 700w (Just like by yIn wInw).

" The x7m3 there explains the reason »"3 does not derive 112 NXY MK from mav Maw because he would rather derive
qonw from avnw (by v "0Inw) than to derive v nw from 2w (by 701°). The question is why did not " say that
he does not want to derive from 12 mav because it was said before 70 1nR?!

2 See footnote # 11 for the ‘other answer’.

3 We could not have answered (‘merely”) that n'"» >1991 117 1°X (as Moo asked [see footnote # 11]).
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=92 HNXY N 2N HN’A0 255D NN OINT

For if 72w would have been written by 113 NRY MNIR (instead of mvnw) -
= AN%VM NNV 191 NIV NAVN DNNI NIN 129D NN

We would have derived both here (‘71 '7) and there (112 PX) 1NIX) from 72w Maw

19, though a w"t of Amdaw AV that nwnw "> XY PRY Awnw, we would have
preferred this "3 of 72w AL -
= 90772 977 93902 NIINI NIT 23 by 9N

Even though that nav mav was not said in °1°0, because of the sameness of the

word 717°20. We would have preferred this, rather —
- 53503 N9ANT 2) Y N T NIT NVINYN NNV 99991

Than deriving 7m2v from W, even though v nw of yIn2 ow7p was said in
1%, nevertheless we do not prefer it, since it is not the same word (one is 7m0 and

the other is 7w nw). This is a hypothetical if 7r°2v would have been used by 112 DX 1N -
- Bnosnun nvsnw 1237 132 HNY IMN 23) NVINY 2PNDT XOVWN DAN

However now that musnw is written by 12 nXY MR, we derive 7uwsnw (of NXYINKX

112) from VIR (of Y7 VW) -
- 1m9 744 NN RNIYA 5123 195995

And now we also derive regarding 752w of '/ '7 that o nw AW IR APRY UMW -
— ANALN 1Y T IMIYNT ANV 137 1Y K9YY XIQINY

But we cannot say the opposite; we should first derive 72w of ' 'T payments

from 11792Y of Ao and establish that LAY 7AW X2 MR AIPRY 70T -
=132 HNY IMNRT NVINYN ONNN 9199

And then to derive from it (‘71 '7) for the w2 of 12 NRY MR that Twnw W"9; we
cannot say that -

- 591 9955 XIIN) 91 99319 XN )0 DINPYT 1191
For since they are equal and we can derive this way and we can derive the
other way -

4 The sameness of the words 7m*au overrides the concern of >1°02 X1 XY. Therefore, the 81 could not have
answered that the reason we do not derive 112 NX) 1MX from 12w Maw is because *1°02 K1 X, for in fact if 7AW
would have been used by 132 nX1 1N we would have derived it from 701, despite that it is >°02 K1 XY, rather than
from 71 "0W, since sameness is more important than °1°02 X1 See ‘Thinking it over’.

" In this manner there are two advantages, it is the same word, and both were *'02 72X1. We have now firmly
established (at least by 112 NX1 10IX) that 7L MY AL 7R 7KXW 70 nw. See the end of MmdoIN.

'® Once we have firmly established (by 132 NXY 1MX) that W MW 72w AMKY APKRY 70NW, we can assume that it applies
everywhere else including 'm "7 (even though the word 717720 is used there).

7 mipoin is explaining why we cannot start the with 7 '7 first, where 7mav is used, and derive it from mav mav that
we require a 7" 70w and then apply it to 132 NRY INIX as well; the exact opposite of what we said previously (see
footnote # 16.).

'8 We can choose to start with 70 nwn 7w, or to start with 7°2wvA n°2av, in both cases there is sameness. Therefore,
as far as sameness is concerned, we have no reason to choose one over the other.
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93502 92NV N9 3902 9NN 927 1237 MY )Y N
We should say it is preferable ' to derive something which was said in »1°0 from
something which was said in 51°0.

Summary
Either the X723 there could have answered that we prefer to derive °1°02 212X1 from

°1°02 7X1 (as we need to say here regarding ' '7), or we prefer sameness, and 7\2
°1°01 is only required to tip the scale.

Thinking it over
mooin goes through some length to explain what would have been if the 77N

would have written 7m°av by 132 nxy 1.’ Why was it necessary for mso1n to
mention this hypothetical; why did moIn not start with '’xnws 2ax'?*!

' Since they cancel out each other regarding sameness, 7u°nwn 70nw has the advantage of 1’02 ImXIw 727, which
7mvavn Anav does not have. See footnote # 15.

% See footnote # 14.

*! By footnote # 15.
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